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1. 338 @%@%50&3& WE 34 @%ﬁ@?&%{ TROQT. i
This Question Paper consists of 34 questions. —

2. B BIBGIOTY HLTND WFF [oweT FeT (2F) IRBOINS.  BOG
9, SO BeR00308, A TIPS, T LOWD TRIFET) FFOY (WRLOTRY IT03),
DT TRIFTL F30eIeR. T3 TE, 300, D, FNED VTod0e 0T TOYRERS,
This question paper has been sealed by reverse jacket. You have to cut on the
right side to open the paper at the time of commencement of the examination

( Follow the arrow ). Do not cut the left side to open the paper. Check
whether all the pages of the question paper are intact.

3. TIMER IR RRWIAYR) TOOR.
Follow the instructions given against the questions.

4, WO mﬁd@@m@i&ﬁ 903N @%ﬁ@ﬁww TPEDE OBNFI), ERe0ROTH.
Figures in the right hand margin indicate maximum marks for the question.

5. ®IWHTODTY WRERYLY 15 VNG DI  AOTOZ,  GVZOILD
ANOTRBCOT BBO0ITR), B,3TE, 50D doe%ﬁcﬁ@ﬁ QEeTBSINT.
The maximum time to answer the paper is given at the top of the question
paper. It includes 15 minutes for reading the question paper.

6. TN RSOBTHNTI @%ﬁ%@oﬁo Eﬁ%é ( Version ) &®02) @ﬁo@ B2 T, 3,
BOY, FIINTOT &, F 8,303 &3 § 0T3¢ BNTIPYTIY, 9B0TRAERT,
Ensure that, the Version of the question paper distributed to you and the
Version printed on your admission ticket is the same.
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I.

31 TONT JINOR OFTe WTRr TeVINER Towy, SORRIRD VRN,

ORPYNTY T, BRFTTHT ¢OITIRY, @O, VWS F[RITRRCON Fpeor
LOZTTRY, WD

10x1=10

":.n‘ --|
Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

1. &3, WBeona’ 0300300 ©33,000 WO
a) F& (B) o

(C) R (D) a'ReE

Track changes option is available under the menu,

(A) File (B) Edit

(C) View (D) Insert

2. SO0 BRTE 0TT, T, UTP TWIRY,
(A) RLIT G0N FEOROT)TO
(B) R daeer%ﬁm?,, ORI

O RS TLPREE, FeomTPD

(D) DT BREFTIE) FORPYD
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Watermark means adding text or image to the

(A) Page background

(B) Top of the page
(C) Bottom of the page
(D) Margin of the page

3. ‘mwwsr S5oRFON O W3e0RTE ATT TEF B 0O

(A) Ctrl + Shift + C (B) Ctrl+Alt+C

(C) Alt + Shift + C (D) Shift + C + F,

Shortcut key to "start recording the changes" is

(A) Ctrl + Shift + C (B) Ctrl+Alt+C

(C) Alt + Shift + C (D) Shift + C + F,
4. DBOTTYOD PO IF T

(A) .odb (B) .odt

(C) .odg (D) .ods

The file extension of spreadsheet is

(A) .odb (B) .odt

(C) .odg (D) .ods
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5. AP°RE’ WBU0WIOT NP0 TR eTe0 PRI YVTTTD

(A) I OB FOFT® (B) ot -a5f AF0003R¢

™M

(C) reee® 2ez® (D) 0% wow® OeGex®

The tool used to predict the output while changing the input is

(A) Consolidate function (B) What-if scenario

(C) Goal seek (D) Find and Replace
6. B3 IINT CINRYTO BRR0DT° T 029,035 ?

(A) Q0T & 3T (B) WIS <00 Wexk

(C) Q0T B (D) ) T BRDS*

Which of the following is NOT a DBMS software ?

(A) MS Access (B) Open office base

(C) MS Excel (D) My SQL 5

7. %@@@56@2 @%m@@t TSRO @5525 1Y)

(A) B30 8ed (B) woUSes sed
(C) O 3D (D) ) ondéees 3¢

The key which uniquely identifies a row in a table is

OO

(A) Primary key (B) Alternate key

(C) Foreign key } (D) Candidate key
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8. Bmnde |Tow céemw”e*:)&gl BTONED WHROT ToEF BT 3O

(A) Ctrl+D (B) Ctrl+ O

(C) Ctrl+E (D) Ctrl+F
The shortcut key to open an existing database is
(A) Ctrl+D (B) Ctrl+0O

(C) Ctrl+E (D) Ctrl+F

9. WO xo:é;ojaa éﬁmﬁmﬂ%w TOCIRT 2ITT,To FOORF LD ﬁz;fo@m

(A) IEIW),

(B) <de3o0BTY
(C) ,[TITT STIDOITTY,

(D) FOR TORENY DWEI),

The proper security procedure taken by the organization increases
(A) Loss

(B) Insurance

(C) Business Revenue

(D) Operational charges
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II.

10.

W) W TOFRWOT WRT OB [RETN ORT SR TERTT,

BRBBITT BOTT G

(A)  BOWFOD WOWAN LTMOTYT
(B) Bea)y NOR SN OJ2,08 ACRITYHTI0

(C) 3e® BRewE s T&T FOOINRHTO

(D) 0BT $eeders  Ba00TS VORI

If a person gets sore shoulders while working with a computer
then the remedy that could be suggested is

(A) Lumbering support on the backrest of chair

(B) Rest the eyes periodically

(C) Moving closer to keyboard

(D) Adding wrist to the front of the keyboard

DRTTT ST w&%&ﬁ :23%355% WS TRR ¢ 4x1=4

Fill in the blanks with suitable answer :

11.

12.

13.

14.

JPEG S U8 BT oo :

The expansion of "JPEG" is ........c.ccceue... .

IDE Q0% mmﬁo@{ 23CTO0DOBDD et %e@oﬁa:&g{ ugzﬁeso.

The module can be executed from the IDE by pressing

8 DORRY, TR wovvvveenrrrreenen BRRFMES.

Query can be created in .............. ways.

QeOS pH VPO v NP RS WRWT WY0INTIT.

The pH value of water can be measured through ...............
analysis.
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IIL. 15, A-TEONY €5 oo’ OFF Ry VeRB &0F B-T[e3odhd &nd
BACTRERY ATBWINT. SYNETY TRODY YOITAYI) T H[RFTRART
B0 : 4x1=4
Text wrapping effects are given in Column-A and their tools
are given in Column-B. Match them and write answer with
alphabet : "*

A-TE B-3&3
e e
Column-A Column-B
) w0 B0 oo WA TIVIT  a)  WeeEE
Text is placed above and below Arrangement
the image.
i) 833 R3en I3,HDTH b) SR Bers 0o,
Text flows around the image Optimal page wrap
i) TJI@I, WT oeed  WTOWOZ ¢ 09,5 (eﬁo,;—{) QBNE
BREZTT Wrap left
Superimposes the image on the
text.
iv) wWIEI) TYT wond  (TEF) d) T F EF
WTTOZ BRBOZT Wrap off
Text is placed on the right side
of the image.
e) T& (%) wond
Wrap right
f) U%af 3R
Wrap through
g Tews T,
Page wrap
IV. 33303 @%ﬁ@?ﬁ QOO ! 6X1=6

Answer the following questions :

16. &I (06T W, 20TTERD ?

What is digital image ?
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17.

18.

19.

20.

21.

28NS B3R ugon :

9, BT TUO'TY, BT FeOFLD WIROT CSRPYTHTWER DTHO
QDITNFT, TAOA.

Name any two types of inserting image in LibreOffice writer.

39,8, ¢ DOTTEO 7

What is Macro ?
DBOTTHTODY, MRS AF'T LOTOIRENTI), SR
Mention the use of Goal seek in spreadsheet.
DBOTTFODY, A ERCIVTY, 39,859, IR

Define the term 'subtotal' in spreadsheet.
BRD0NT'TE 0T $¢D HOTTERO ?

What is a foreign key in DBMS ?

6 X2=12

Answer the following questions :

22.

23.

9%, -5ex* TR F O QomTeRd 7 2,000 NVTRHTES SRE.

What is style in LibreOffice writer ? Give one example.

3, BeR* GrT'S O TINFNTY, 83 FINTHNER), 359,809, -

(a) B (Ber) (b) TP

Define the following terms of style categories in LibreOffice writer.

(a) Page (b) Paragraph
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24.

25.

26.

27.

@363@%‘3033@; Oedeedsst &0 efsumaw %a’cﬁ@oaﬁ TR
[CIf 4527 = ~
wgmgxm?em?

l‘ e
Differentiate between Relative and Absolute hyperlink, in a

spreadsheet.

BUL0NTTEY Bl BINRFY Q0TTER 7 03NPYTOTTR TR IFT
B3 mmﬁmf@{ WTOWD.

What is data model in DBMS ? Write any two different data

models.

: &5 /OR
BRRONTTEY @03 06033 @ﬁ%ﬁem ? =B %05 d@oﬁomq 323303

Mﬁrmf@t 20300.

What is the need of queries in DBMS ? Write the ways of creating

data queries.

RRRONT T F085, DFT T08 D0TTERD 7 20T YVITTE IRR.

What is numeric data type in DBMS ? Give one example.

TOTR,WT NTRODN FOF JTELAOTIN FOWRT TN YVONIT FEIT
ZROTTNFER ? R0 WRNYR TOTITNRTERD ?

What are the common vision problems that occur while working

with computers ? What are the remedies for those problems ?

CINPYTIOTTUL T FOTFS FOBNTS), ALdA.

Suggest any four safety measures to prevent hazards in the

workplace of an organization.

9 of 12



[CCE-II-RR/PF(A)/888/4061 | | 86-EK (Level-2) |

VI.

VII.

3:99NT B 3R egon : 4x3=12

Answer the following questions :

28.

29.

30.

31.

O, e GUTRE, BT ZO0HTY FRBOT BOINFRY, LIE00.

Write the steps to update a new style in LibreOffice writer.

&5 [OR

9, ex’ GuT IY, JONTR) dRer® TRTOT TOINFR), WICW0.
Writer the steps to load the styles in LibreOffice writer.

O, ©Qex FURTTY, GO’ LRGLWTIY, WA JeY 3e,[IY Ien
RRTERTOZED ?

How do you modify an image using image toolbar in LibreOffice

writer ?

B, BR, € TWREY, TR, THOFLI ©ROFOFIT LORTONT), WICW0.

20TO0D.

Write the steps to arrange the data in ascending order in DBMS
table.

B3 NI B,IN9NR 00X ¢ 3x4=12

Answer the following questions :

32.

DBOTTPODY. (F[°) WOBF Y FedOT %O %@@@56@{ DR
50371@552{ QWTCA0.

Write the steps to extract a table from web page in spreadsheet.
B EFRE

&5 [ OR
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33.

34.

@363@%‘3033@; bzichs BeLD z’meaﬂrﬁg{ D0F DR aoszsaq
[OF*42 00|
203O000. 3 s

BUR0NT'T D, ST WEATY, CRAT® QORT HEA'S CI00)TITETR
TV PEIFNTI), DWOR.

Explain any four components of user interface of LibreOffice base

in DBMS.
BUR0IT'T CINTYTOTTIR T, T, CRCWINFIY, TOR.

Explain any four advantages of DBMS.

&5 [ OR

S3T° BRI e:szza; 71@3&3{ NOA.

Explain the objects of RDBMS.

11 of 12



[CCE-II-RR/PF(A)/888/4061 | | 86-EK (Level-2) |

12 of 12



